Bapuakm 1

5.
Nlodxus
109 m2
jogh o
Ii }1: 3. X X

KyxHs m <
E 11 M2 FocmuHas (%
g g | 79 w2 .

. Y 2
& e
(/Y -1-
3,25 W2 Mpuxoxas | —
/ 7 5,85 12

/

Jlner

BapuaHT 1

WNam. [Kon.yy.| NMnct [Ne pok.| Mogn. |Hata




BapuaHm 2

5.
Nlodxus
109 m2

1
L
X X X
+
X X X

A\

3.
(| X KyxHs _LL x
jogh e 11'M2 [;;;] [ocmunas “
13,9 M2 " ////
/ 7 2 //////////%V
(/3 Mpuxoxas
l'apdepod
3,25 M2 5 85 12 g% ffz"
Jluct
BapuaHT 2
Wam. [Kon.yu.| fiuct [Ne gox.| Moan. |OaTa 2




BapuaHm 3

jegps!
(X

KyxHs
11 M2

HiN

ne

/

X X
X X

s
X x
X X
X x
x X

-
ocmuHa4q
11,1 M2

Mpuxoxas
6 M2

Nam.

Kon.yu.

JTnceT |Ne gok.

Moan.

Hata

BapuaHT 3

Jlner




BapuaHm &

.

jegpe!
jogps!

BNy

L

@)

A\

5.
\ Nlodxus
10,9 m2
\,
+
3 X X X 4
KUXHg-20CmUHaS \
233 m2 xox
% 7

-
-1- -1- CnanbHs
(/5 [puxoxas 6,1 M2
3,1 M2 L b M2
E '\x x E ﬁ
Jluct
BapuaHT 4
Wam. [Kon.yu.| fiuct [Ne gox.| Moan. |OaTa 4




BapuaHm 5

ey
jegps!

Ja E x x| Kyxns-20cmuHas
1 x x| 29 M2

- -1-
WL Mpuxoxas
3,25 M2 5,85 M2

/

Jlner

BapuaHT 5

WNam. [Kon.yy.| NMnct [Ne pok.| Mogn. |Hata




BapuaHm 6

= Sy e [T
2 L] &/ =

mial (iR il

(nanbHs

jegps!
(X

9,1 M2

KyxHs
I

L] L o

T

7 5
['ocmunas
1 10,2 M2
[puxoxas
4,2 m2

X
X

X
X

/

Jlner

BapuaHT 6

WNam. [Kon.yy.| NMnct [Ne pok.| Mogn. |Hata




